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data{
int N;
real T
}
parameters|
real<lower=0>lambda;
}
model{

N~poisson(T*lambda);

library(rstan)

data<-list(N=2, T=1500300)

fitl <-stan'TEST1.stan',data=data)
lambda<-rstan::extract(fit1)$lambda
quantile(lambda,c(0.05,0.5,0.95))
stan_trace(fitl,pars="lambda’)
stan_hist(fitl,pars="lambda’)
stan_dens(fitl,pars="lambda’,separate_chains=TRUE)
stan_ac(fitl,pars="lambda’,separate_chains=TRUE)
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= stan_hist(fit],pars='lambda’)

> stan_trace(fit]l,pars='lambda")

= lambda<frstan::extract(fitl)$|ambda
> quantile(lambda,c(0.05,0.5,0.95))

5.416048e-07 1.759193e-06 4.206821e-06

“stat_bin()" using "bins = 30" . Pick better value with "binwidth".

> stan_dens(fit]l,pars="lambda’,separate_chains=TRUE)

> stan_ac(fit]l,pars="lambda’,separate_chains=TRUE)
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